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R RS A () o TR R F R L TR P | I hicd #F - Forty students will form 20
groups, each representing one factory Each gwalipreceive a card (J=11, Q=12, K=13, A=1). The
number of your cargnultiplied by 10 and plus 1 is your pollution reduction cost. For exampleyaur
card is 9, the pollution reduction cost is 9x10+41= Please store your card properly so no ongeak.
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.

AR 56%? EETFLAED I RELI G WER F 5 AR TEAR - 253 N4 L After
distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:

AR ENEE FEEEEREEE SRR SF ST DS SO A EIE
B2 ookt § ’5@‘%’ FIR R T - 2 g o Bled T2 o F U R F e sd T
o ke P& ARALH LY o FRILE LATH LT - H and i o The experimenter acts as
the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.

TESRE o RSP REOI R - Eeagok s Bl 2 R s - B gk
FR S ARG BT R R A P AR - ) e Tt A iEAEY FRHRBOIRT MEREP AR
TTORA LR (DR A L R e PR Rl p e Fb MRS o B R R

R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
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sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
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sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.

AR 56%? EETFLAED I RELI G WER F 5 AR TEAR - 253 N4 L After
distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:

AR ENEE FEEEEREEE SRR SF ST DS SO A EIE
B2 ookt § ’5@‘%’ FIR R T - 2 g o Bled T2 o F U R F e sd T
o ke P& ARALH LY o FRILE LATH LT - H and i o The experimenter acts as
the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
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grade for this experiment.

FURP G IREFLZ - LT - RO TR ER ST R E MR AT EFZ AP
S S S AR S £ 2 D AR S CR S

B RES A RSP A F e BT R

Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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AR ENEE FEEEEREEE SRR SF ST DS SO A EIE
B2 ookt § ’5@‘%’ FIR R T - 2 g o Bled T2 o F U R F e sd T
o ke P& ARALH LY o FRILE LATH LT - H and i o The experimenter acts as
the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
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for those who receive permits directly from the gawment is the number of your camultiplied by 10
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If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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groups, each representing one factory Each gwalipreceive a card (J=11, Q=12, K=13, A=1). The
number of your cargnultiplied by 10 and plus 1 is your pollution reduction cost. For exampleyaur
card is 9, the pollution reduction cost is 9x10+41= Please store your card properly so no ongeak.
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.

TESRE o RSP REOI R - Eeagok s Bl 2 R s - B gk
FR S ARG BT R R A P AR - ) e Tt A iEAEY FRHRBOIRT MEREP AR
TTORA LR (DR A L R e PR Rl p e Fb MRS o B R R

R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
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If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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card is 9, the pollution reduction cost is 9x10+41= Please store your card properly so no ongeak.
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.

AR 56%? EETFLAED I RELI G WER F 5 AR TEAR - 253 N4 L After
distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:

AR ENEE FEEEEREEE SRR SF ST DS SO A EIE
B2 ookt § ’5@‘%’ FIR R T - 2 g o Bled T2 o F U R F e sd T
o ke P& ARALH LY o FRILE LATH LT - H and i o The experimenter acts as
the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
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grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie



S AP D F-F % & 4% Record Sheet for “Tradable Permit Market”

Name Major/Year Student ID
S AR i gy
B CaE A kB B
VI W N | FERR| A A
H g s L s
gy | R w3 | A | g | i i
Distributi f . . .
Round Isgf#nli(tjsn © Number| Reduction| Price of | Profit of Memo
on Card| Cost Permit Round
1 KEH 5 7 %% 7%k 130 =
Random Distribution $130 is given
) HE S A P —*‘Ff *pE 130~
Random Distribution $130 is given
Wiy 3Ry £ . }
3 A ok g A T % f 3 p¥ 130~
Factories Have $130 is given
Pollution Rights
FORAp G ARG B
4 5 L g ?.%E’F‘{I%E%f 130~
Auction - Residents $130 is given
have Pollution Rightg
FORHAP S LT IR
5 CINC I SO o F 130~
Auction - Factories $130 is given
form two large firms
TR § AT LA
6 EEANE PN T % }pE 130~
Auction - Factories $130 is given
form one large firm




ERE R - EF ()5 4D H(Tradable Permit Market)
Principles of Economics | - Classroom Experiment {8adable Permit Market

ApREe LR ELEFH A - B ERL- FAOR - FERE € £5]- %5 &F
g Fo o (J=11,> Q=12 K= 13’ A=) BrEFENUL R A - BRI AR - HETE TR
R RS A () o TR R F R L TR P | I hicd #F - Forty students will form 20
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card is 9, the pollution reduction cost is 9x10+41= Please store your card properly so no ongeak.
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.

fliBesr 58 1 Fw £ 841 frhedd VEHe BT RAS AT} i%:ﬁa(ar-ms H )
i';Lg, v Lt Ao [ mlﬁ D4 b R 5@;«-& R 130 ~ > A Y £l - B I v e

‘Eé?ﬁﬁ%‘iﬁﬁ'ﬂi’ fﬂ'ﬂ o B {8 ik J/rs”f 12 1007 B AT eh e o 2 ARG 0 F HARF o
Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.

fliBesr 58 1 Fw £ 841 frhedd VEHe BT RAS AT} i%:ﬁa(ar-ms H )
i';Lg, v Lt Ao [ mlﬁ D4 b R 5@;«-& R 130 ~ > A Y £l - B I v e

‘Eé?ﬁﬁ%‘iﬁﬁ'ﬂi’ fﬂ'ﬂ o B {8 ik J/rs”f 12 1007 B AT eh e o 2 ARG 0 F HARF o
Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.

FURP G IREFLZ - LT - RO TR ER ST R E MR AT EFZ AP
S S S AR S £ 2 D AR S CR S

B RES A RSP A F e BT R

Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
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If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
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grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:

AR ENEE FEEEEREEE SRR SF ST DS SO A EIE
B2 ookt § ’5@‘%’ FIR R T - 2 g o Bled T2 o F U R F e sd T
o ke P& ARALH LY o FRILE LATH LT - H and i o The experimenter acts as
the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.

AR 56%? EETFLAED I RELI G WER F 5 AR TEAR - 253 N4 L After
distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:

AR ENEE FEEEEREEE SRR SF ST DS SO A EIE
B2 ookt § ’5@‘%’ FIR R T - 2 g o Bled T2 o F U R F e sd T
o ke P& ARALH LY o FRILE LATH LT - H and i o The experimenter acts as
the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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R RS A () o TR R F R L TR P | I hicd #F - Forty students will form 20
groups, each representing one factory Each gwalipreceive a card (J=11, Q=12, K=13, A=1). The
number of your cargnultiplied by 10 and plus 1 is your pollution reduction cost. For exampleyaur
card is 9, the pollution reduction cost is 9x10+41= Please store your card properly so no ongeak.
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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distributing the permits, the experimenter willoa¥l firms to trade their permits using the followingdes:
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.

TESRE o RSP REOI R - Eeagok s Bl 2 R s - B gk
FR S ARG BT R R A P AR - ) e Tt A iEAEY FRHRBOIRT MEREP AR
TTORA LR (DR A L R e PR Rl p e Fb MRS o B R R

R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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R B R TRRE DR RS A2 F’“‘%—#& - After the market closes, factories with permits atewed to
emit pollution (no cost), other factories pay tr@lytion reduction costyour number multiplied by 10
and plugminus 1). Hence, factories with permits can keep thempis (and save the reduction cost), or
sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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sell their permits for profit (and pay the reduntimost). Other firms choose to buy permits or {heycost.
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Profit Calculation: After each round, please réecgour number, reduction cost and transaction priteur
profit for this round is 130 minus your pollutioaduction cost. Total profit divided by 100 will lyeur
grade for this experiment.

FURP G IREFLZ - LT - RO TR ER ST R E MR AT EFZ AP
S S S AR S £ 2 D AR S CR S

B RES A RSP A F e BT R

Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
Directors to make decisions collectively. Eachidag has the same pollution reduction cost as leefand
the Board decides which factory should use the peramd which pay the reduction cost. Howeverltot
profit of the firm is evenly shared by all factaie
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groups, each representing one factory Each gwalipreceive a card (J=11, Q=12, K=13, A=1). The
number of your cargnultiplied by 10 and plus 1 is your pollution reduction cost. For exampleyaur
card is 9, the pollution reduction cost is 9x10+41= Please store your card properly so no ongeak.
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The experimenter represents the government anéssp;ermlts to pollute. Permits are distributetiezit
randomly, evenly (everyone gets one), or throughaantion. The experimenter will announce the
distribution rule at the beginning of each roun&irms who receive permits will also receive special
technology that willower_your pollution reduction cost by $2. Hence, the total pollution reduction cost
for those who receive permits directly from the gawment is the number of your camultiplied by 10
and minus 1. For example, if your card is 9, your pollutieduction cost is 9x10-1 = 89.
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the specialist taking orders from both sides (“BXy or “sell $Y”) and recording them on the blacldd.

If you want to accept the other side’s standingmfsimply shout “take” and come to the front (wytbur
record sheet) to report your trade and return gaud.
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
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Special rule: When several factories form a large firm, studdriam all factories jointly form the Board of
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